18#-2000m &:RkEER (RBR<S)IBLT—RT—

THABHIRES (4ERIN)KA:1,000M->500M

(1527>] LT+—RIIIStwk fiite 1,200 (5 - (1451 E81)

HALTED MOEFIRE

FHIFH—OLR—2 &L

R6

ERHEO Y AEFIRIEH !

BFEERRE : 58 0685~ 208

BMEAZEIS : 0655~ 1855004
ITEL : 092-809-2666

2024 BURL : http://umizuri. com
B {T AR29B(A) | 4A30B(A) 5H180K) 5H2B(K) 5A3H (%) 5H48(%) 5A5H(H)
KR (°C) 17.9 17.5 17.5 17.4 18.5 18.6
=m (°C) 18.0 16.0 15 135 145 18
A 1A - EIR(m) 7817 i£10.0 718 1.3 780.7 F780.4
X A m/E H i i e
2 i {E&(cm) 4 0) 18 D E T H # & z D 4 T/ RAF 1T
IATS 6~8 210 7= HEX A,CD,GILJM,Q
kodomo4oy 10~12 35 T= HEX ABMN,R,S
/\) 25~38 18 TEIAEXT= HEFX ¥ B~E,LK,MN,R
S 15~20 15 7L HEX R REE D~F KL
4~0 15~30.5 50 7= HEFX D~FJ~L,Q
7o 24~28 2 TIAXTE JEX ¥ H,I
7oa 14~20 75 TEIAFXTE HEF D+ C~EG~KMQ
T A5 * 20~23 2 7= JEX J,S
FA)AH 800~901 2 Ixoy U
hy3 13~25 240X 73,73 Y/ D FE ST D& YE X fARE ACEK~NR
HYI(FS5HhD) 15~25 51FX 73 AH Y33 LY FHE £ 5% 50 AH 15T A7 B~IKLN,QR
NEIGFAIL 8~10 320 T= HEX C~EJ~LQ
AINE 15 1 L fR 2= A
XN 23~27 2 BT 7=2 AHEHEX D.Q
FR 10~24 31 L TEAXTE BIFHEEX DF AEFIKR
5T 36.5 1 73 FKHE J
VA 10~15 362 HEX HJ~LN,Q
H83 8~10 15050 7= HJEX A~W
ARXF 61.5 1810 1 A7 % (kHE) C
ES A 40 1 7= HJEX D
<A 18 1 T2 HEX D
AL 12~25 48 TEIAFTILY HEFX D& RIT D,G~KMN,QT




